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1. Select the most appropriate ANTONYM of the given word.

Humility

(A) Timidity
(B) Shyness
(C) Obedience
(D) Arrogance

Answer: d
2. The following sentence has split into four segments. Identify the segment that contains a grammatical error.

We have / not met / some of our friends / since six months.

(A) Not met

(B) we have

(C) since six months
(D) some of our friends

Answer: C
3. The following sentence has been split into four segments. Identify the segment that contains a grammatical error.

The contrast between / Britain and other countries / of Europe / are striking .

(A) The contrast between

(B) Britain and other countries
(C) of Europe

(D) are striking

Answer: D
4. Select the option that can be used as a one-word substitute for the given group of words.
Full of people

(A) Popular

(B) Populous

(C) Prominent

(D) Porous

Answer: B
5. Select the option that expresses the given sentence in passive voice
Give the child a nourishing diet.
(A) The child is given a nourishing diet.
(B) The child must have given a nourishing diet .
(C) The child should be given a nourishing diet.
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(D) The child was given a nourishing diet .

Answer: C
6. Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and
coherent paragraph.
However, when areas in Leh began to experience water shortages, life didn’t grind to a halt.
Ladakh is a cold desert with a low average annual rainfall.
Thus, glaciers have been the main source of water for the people.
This was because chewing Norphel, a retired civil engineer came up with the idea of artificial glaciers.
(A) BCDA
(B) CBDA
(C) DABC
(D) BCAD

oo wp

Answer: D
7. Select the most appropriate option to fill in the blank.
The work cannot be completed on time you work for longer hours.
(A) unless

(B) even
(C) because

(D) since

Answer: a
8. Select the most appropriate meaning of the given idiom.
Get out of hand

(A) Not able to finish
(B) Be depressed
(C) Run away from somebody

(D) Become difficult to control

Answer: D
9. Select the most appropriate meaning of the given idiom.
To raise a few eyebrows
(A) To say something funny
(B) To Pretend to be shocked
(C) To cause surprise or shock
(D) To mime and make faces

Answer: C
10. Select the option that will improve the underlined part of the given sentence.
In case no improvement is needed, select 'No improvement required'.
He is bent to harm me as much as he can.

(A) on harm

(B) No improvement required
(C) upon harming
(D) to harming

Answer: C
11. Select the option that expresses the given sentence in direct speech.
Rajiv requested his friend to remove his shoes before entering his house.
(A) Rajiv said to his friend, “please remove your shoes before entering my house.
(B) Rajiv said to his friend, “ Remove his shoes before entering my house.”

”



(C) Rajiv said to his friend, “Please remove his shoes before entering your house.”
(D) Rajiv said to his friend, “you must remove his shoes before entering his house.”

Answer: A
12. Select the most appropriate synonym of the given word.
Lofty
(A) Keen
(B) Active
(C) Noble
(D) Humble

Answer: C
13. Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to
substitute it, select ‘No substitution required.
Whom was the person that you wanted me to contact there?
(A) Who is the person
(B) whom were the persons
(C) No substitution required
(D) whom is the person

Answer: A
14. Select the most appropriate option to fill in the blank.
Are you looking forward ----- NiKhil again?

(A) To be seeing
(B) to seeing

(C) tosee

(D) seeing

Answer: B
15. Select the option that expresses the givne sentence in active voice.
Parker has been bitten by a rare species of spiders.
(A) A rare species of spiders had bitten parker
(B) A rare species of spiders bit parker.
(C) A rare species of spiders has bitten bitten parker.
(D) A rare species of spiders is biting Parker.

Answer: C
16. Select the INCORRECTLY spelt word.

(A) Alaign
(B) Fantastic
(C) Mirror
(D) Secretly

Answer: a
17. Select the most appropriate synonym of the word ‘Scrutiny’ from the given sentence.
The company's strategic plan included a comprehensive analysis of market trends and consumer behaviour.

(A) Trends

(B) Analysis

(C) Behaviour

(D) Comprehensive

Answer: B

18. choose the correctly spelt word.

(A) Dieloge



(B) Diloge
(C) Dilogue

(D) Dialogue

Answer: D
19. Select the option that can be used as a one- word substitute for the given group of words.

A four- footed animal

(A) Reptile

(B) Quadruped
(C) Biped

(D) Centipede

Answer: B
20. Every Monday, on his way back from work, Bepin chaudhary would drop in at kalicharan’s In new market (1)___books. Crime
stories, ghost stories, and thrillers. (2)___ had to buy at least five at a time to last him (3) the week . He lived alone , was
not a good mixer, had few (4) and did not like spending time in idie chat . today, at kalicharn’s Bepin Babu had a
(5) that somebody was observing him from close quartiers.

Select the most appropriate option for blank no.1
(A) To buy
(B) Bought
(C) Buying

(D) Buy

Answer: A
21. Every Monday, on his way back from work, Bepin chaudhary would drop in at kalicharan’s In new market (1)___books. Crime
stories, ghost stories, and thrillers. (2)____ had to buy at least five at a time to last him (3) the week . He lived alone , was
not a good mixer, had few (4) and did not like spending time in idie chat . today, at kalicharn’s Bepin Babu had a
(5) that somebody was observing him from close quartiers.

Select the most appropriate option for blank no.2

(A) She
(B) He
(C) Him
(D) They
Answer: B

22. Every Monday, on his way back from work, Bepin chaudhary would drop in at kalicharan’s In new market (1)___books. Crime

stories, ghost stories, and thrillers. (2) had to buy at least five at a time to last him (3) the week . He lived alone , was

not a good mixer, had few (4) and did not like spending time in idie chat . today, at kalicharn’s Bepin Babu had a
(5) that somebody was observing him from close quartiers.

Select the most appropriate option for blank no.3

(A) Through



(B) Within

(C) BY
(D) Across
Answer: A
23. Every Monday, on his way back from work, Bepin chaudhary would drop in at kalicharan’s In new market (1)___books. Crime
stories, ghost stories, and thrillers. (2) had to buy at least five at a time to last him (3) the week . He lived alone , was

not a good mixer, had few (4) and did not like spending time in idie chat . today, at kalicharn’s Bepin Babu had a
(5) that somebody was observing him from close quartiers.

Select the most appropriate option for blank no.4
(A) Followers
(B) Servants

(C) Students

(D) Friends
Answer: D
24. Every Monday, on his way back from work, Bepin chaudhary would drop in at kalicharan’s In new market (1)___books. Crime
stories, ghost stories, and thrillers. (2) had to buy at least five at a time to last him (3) the week . He lived alone , was

not a good mixer, had few (4)

(5)

and did not like spending time in idie chat . today, at kalicharn’s Bepin Babu had a
that somebody was observing him from close quartiers.

Select the most appropriate option for blank no. 5
(A) Feeling
(B) Perception
(C) Intuition

(D) Connotation

Answer: A

25. Some parts of one or more sentences have been jumbled up, and labelled A, B, C and D. Select the option that gives the correct
sequence in which these parts can be rearranged to form a meaningful and grammatically correct sentence.
At Paris, just after dark
A. of meditation and a meerschaum, in company
B. one gusty evening in the autumn
C. of 18, | was enjoying the twofold luxury
D. with my friend Auguste Dupin, in his little back library

(A) DCBA
(B) ADBC
(C) BCAD
(D) CDBA

Answer: C

26. frafaf@a s # @ ( F9fa) 7 & v T @ ad Reat ik & seant & e J agaen
grem?

13-65+45 x 21+ 2 =82



(A) .45 3 21, x 3R +
(B) 65 3 13, x 31X +
(€) 45 3 13, x 3 +
(D) 45 3R 13,-3% +

Answer: C
27. wF faRea g amar &, ToP' : '102'F T H Feaqy fFAT I1ar ¥ 3R 'BAD' F '14'F W H Feacy v Srar
g1 34T omeT # 'DoG' F fFW YER Feagy AT Smeam?

(A) 50

(B) 51

() 53

(D) 52

Answer: D
28. ua ff"=d@ ge W §, ‘MAGNET’ &1 ‘BLOFUD’ & %u # forar iram @ | Sl «mom

# ‘PRAISE’ &1 food vy & foram smoam?

(A) QQHBDT
(B) SOJZFR
(C) SQIBFT
(D) OSZJRF

Answer: B

29, ﬁcmmﬁaﬁrﬁuﬁﬁaﬁmmjﬁqﬁlwmﬁg%mﬁﬁﬁﬂémwamawm
& AT dd § BT welia gt @), a7 W Rw v Tewst # @ w9 @ et Fum w1 i @ seer
I g
Yol
weft gy, AT §
Fo AT, 3§
7o AR, 33 T
IGA: 2 F
. F& NI, AT &
I F& 4R, Fagee ¢
(A) Faer fsFd | FTEIOT FT §
(B) & @t s | 3R 7 & 1 rTEIOr Few ¥
(C) ¥aer forswd 11 ITEIOT FIAT B
(D) @t frswd IreTERoT FS B

Answer: B
30. <9 ec &1 999 SN fSae! Rl @ 760 g8l |998 © 1 19U T ey & dEel & 9 7|
(21, 13, 17)
(A) (25, 35, 38)
(B) (11, 21, 140)
(C) (22,57, 81)
(D) (32, 46, 39)

Answer: D
31. If¢ 36 @2=1296 3R 4@4=256, AT 9@3=7?



(A) 729
(B) 343
(C) 6561
(D) 512

Answer: A
32. i Ry MY Yo &1 A gEd S X IR S 6T BT AT N, S 59 U AT (?) BRI WA Tl B |

(A) 16

(B) 36
() 81

(D) 49

Answer: C
33. Ak ue qarg dvaar 2, al Sl 99 &1 31 I & HiF—ar f& g ?

(A) #TeraR
(B) THaR
(C) par

(D) <faEr

Answer: D
34. U & & T EN, Sl A9 Q1 T8 A0 A gearEd e (?) & WM WS 99 © |

112, 136, 160, 184, ?
(A) 200
() 210
(C) 202
(D) 208
Answer: d

35. IR Il # A @ g, B @ g 9 SR 21 C &1 g, B & g &7 emem 21 D &1 g, B & a9\ 9 60 kg ot B, g A & aoe 9 60
kg &1 21 579 ¥ fraat g waifde 872

(A) C

(B) B



(C) D

(D) A

Answer: D

36. afr aPba@raefa+hs aShar oef a-bd aMb@ranf a*b# sk aDb@ranfa b & @ 5P6S3MAD8 31 7 T 3 |
(A) 8
(B) 8.5
(€) 10
(D) 9.5
Answer: D
37. Ry aR el & 9, IF 5 de ¥ 99 € 3R TS SR © | I BT 99T IR |
(A) @ $1g sifaags
(B)
(C) Egw oifawrgs

(D) AoHR SEATRIZS

Answer: D
38. "SERIATIN"7/sz 3 3783f & OF fhaer &2 & Poaa o avfden & o 3§ 8 &2
(A) FYE T
(B) 1
(€) 2
(D) 3
(E) 38 &=
Answer: A
39. BRl & IH FINH B 9T HIg o & e sEdr & Rad el § Bfie w0 § 6
TR S gut 8 AT |

UK..ZU. TM_.UK.MZ_KT.Z
(A) TMKZTZM
(B) TMTZTUM
) TMKZTUM

D) TMKZTUT

Answer: C
40. 9 fAwew &1 99 &, S 9 wrsat &1 difbd BF o= <@ifar 21

1. gRomq
2. GRIET



3. gedid
4. e

5. JETT
(A) 2,5,3,1,4
(B) 5,2,4,3,1
(€) 1,2,5,3,4
(D) 5,2,3,1,4
Answer: D
41. S9 WR—E DI UM BN, O TR siaem 9 Faed T8 2
HSMN, KPPK, NMTG, QJVE
(A) QIVE
(B) HSMN
(C) NMTG

(D) KPPK

Answer: Cc
42. 39 aFe MG &1 999 By, 91 1 m@fa—aoh 3§ waresd 8T (?) & 0 W

QY |

Q 0
@ 3 © O B

7 B

e
i :)

J

(A)

(B)



v

(€)

©

©
3t
Y,
3¢

(D)

Answer: A
43. <9 U P MG X & IR SR @ S ©, @ argpfa X & sdor A [T wfafds @

TIT B |

1y



e

<

(B)

(D)

Answer: B
44, TP & U B DT T Ryferdt s T2 T 1S9 WA BT WA BN, S ‘17 g9 ard oAb B

famdId werh oR BN |



(A) 3
(B) 4
(€) 5
(D) 6
Answer: C
45. Ut Fourd 31 URHET B1R SIRT IR §UIRA o $E, ‘T8 W Y B UfT & G 2 | 59 Foord JoN
o1 I | Fa7 Rear &2
(A)  =eRT e
(B) =R
(C) wré
(D) dfx
Answer: D
46. BT M W ¥ U fAgAed I & oY I@ T Yo HRAT & | 98 SR 31 3R 100 Hiex T 7, iR ufedm @l 3R gsar B, ofR 50 e =ern

21 R 98 18 &R Foar 2, MR 50 Hex gofar B, &R ofd # a8 I a8 MR g1 2, 3 100 Hiex a3
figarera uga S © | fagare & S9e W e fiwn # 82

90°

T A Bad arel AIS §)

(A) STR—uf¥Tw
(B) Swv—gd
(C) =feror—ufe=m
(D) wféor—ud

Answer: A
47. & T Mg J el @ W@ gy |




(A) 19
(B) 17
() 21
(D) 23

Answer: A

48. UF 9 & AT BAFT W BF 7AW D, d,E e, F 3T f @ v §| 7 ural A o Ryt RaE o &1 39 e
FT 9T FY AT D WA I Bl & Q9 Beld 9T 29|

(A) E
(B) e
(C) d
(D) f

Answer: D

49, IW AT NG FT II41 F{ AN PArAfAf@d ot F fiT & Gy F gafaw & F i T
e, Tyelle, o

(A)

(B) e
c;“@

(C) (\-—/



Answer: a

50. fw arw deat &1 eAEqES vy AfGT IR IH TEA F THT AT N 3FA yeAarTw Rew () # afara

T gl B
(4, 2,6)

(9, 3,9)

(24, 6, ?)

(Are: FEABT F 3HF gew I+ A fwfaa fre R, of deant w® & aftdy @fFae fr o @t S9 13 A
AT 13 W it FfFaT A B 13 F SNsavEeET / o Far wfe BT ST Fwar #1013 # 1 3dk 3 F s Ak
ot 1 3 3 W AT W@fFaY F A seafa JE §)

(A) 15
(B) 12
(C) 8

(D) 10

Answer: b
51. 1994 # WHAATS YFT ST AAT EART G ey ARG A 24w aram am

(A) St ggHST 3T
(B) 3Te[XTeT 9TUSY
(C) ANSTAT ARTIOT
(D) HefaT ARR

Answer: a

52. #Rd & 363 USET el & aan &, -1 B 21

(A) 9T
(B) SYeRT
() ;W

(D) 3T

Answer: C

53. &Ra # AT ISR goraT FEAFA fFw o F g% frar ma an

(A) 1997
(B) 1995
(C) 2000
(D) 2004

Answer: b

54. 1990-91 AR 1991-92(----- Guas{y A3 F fi=) A, 4T # o af¥F FAFA @] e 1T A

(A) et 3 teft
(B) Ul 3R g
(C) aradt 3R 3madt
(D) grEEt 3 a6



55.

56.

57.

58.

59.

60.

Answer: C

At & & F9-97 e 9w T § g49fq g ?
(A) THT

(B) I
(C) TvTeT
(D) fag

Answer: D
T T FAAAT F THT AT F (4297 SATITE il G777 747 of?
(A) STATT | Feael FgT | AT AT

(B) fRfat & =aruss &9 & FgT AT AT AT 3% (Tt & =4rqeh &7 & off
(C) THTT ® At qATT F=qU it off
(D) TATAT | =ATIF & & FgT HIA ATHHA AT 3¢ F[Avat

Answer: B

ATRATH STATAA 9TT<h HIT AT o (Aafertad & | e s | faa g2

(A) HETITg
(B) H=TAT

(C) wforz
(D) fafaw

Answer: C
AT o HIALTT o STTEHTL T A1 [ TTFT ST & ?

(A) TR
(B) STHAT
(C) Trgafa

(D) SETH ATATTH

Answer: B

forfeer aee 7 e a9 & W # Ffeqe e 9t om

(A) 1946 &
(B) 1947 &
(C) 1945 &
(D) 1948 |

Answer: A
2011 FY JAIAVEAT F IHTAR, 2011 H AR FT TAGEAT Gefed frearr 4T 2

(A) 245/km?
(B) 382/km?
(C) 432/km?
(D) 486/km?

Answer: B



61. FIOUT AT LIATART FT FATH (UNESCO) HY Faea e gt & - oy e & dk w anfde fovam aram am

(A) 399
(B) 40d
(C) 38F
(D) 3794

Answer: B

62. fawwfaET Fratemeaa wv Fair FEfrieg § & 6T Ts69er 6 a9 S | gar a2

(A) =TT
(B) 9Tl

(C) =TT
(D) weeTT

Answer: B
63. fAaforfaa § 3 i avas § Y141 T9ST F 9ET+

(A) FoTa =g A9
(B) WETad AT T0Te
(C) =ea¥ =% FE=maTT

(D) HATCHTITH TISLT

Answer: D
64. FHTS RRETET = o= a2

(A) FATST ST FTAT AT
(B) FH ST FHIAT ATt
(C) TS 3T 7T AT
(D) HATST ST FAAT ATTT

Answer: A
65. 'fEx T e ad Jfora ger o
(A) 1908
(B) 1911
(C) 1920
(D) 1909

Answer: D
66. HETeTOl Hlel & feaileali@d H § 8 HRAT FARG H 1993 # Toeh! fad eRIgy ¥l & & # 8ifiva fohar
IgT AT?

(A) gfnrq”\wznm

(B) Feler XTSI

(C) STETfR &1 AT

(D) dral Hgel

Answer: a



67. Ueg M WEHR ¥ FHFATlAT M1 ARIAOT R & Fraafaf@a & § e aely g7 it FemmET §72

(A) FIF
(B) HRAATCIH

CRCL
(D) FHUFe

Answer: a

68. AT (Moss) #I YAl &1 39ANT §uaT & ¥ # FA) fhAT AT 22

(A) d9 AT A $UT & T & 39T FAT S grem T 9e T A & AT
(B) S-ardir Feit # wergar F favw
(0 et & fav Refaw ya= F= &q

(D) TS dYg HT AT Tl & AT

Answer: a

69. -- &5 IR # & W FPUfA ¥ 59 s X et Peaw T s AR S § i ae @ Fedfas A o
e q dEer g et @

(A) Tefafer srer
(B) el HHe
(C) YT FeT qar
(D) 3rehfAa 3mqfct

Answer: a

70. HTH 2024 ¥, T AT AL STHL 7 AL HIGAT (2@ & aay 9 490w &9 F AigeArst & o0 fhay g 3cpear o=
(NCOE) TATTod T sl JTOOTT Hl?

(A) T

(B) =X

(C) ==

(D) &r

Answer: d

71. 15 FTELT 2024 T #fF T AT ST ATEH ¥ TS T HAT ¥ 75 FHIT HIE ST ATSTAT HT AT FAT 272

REIEREIRCREaCRIECII

(B) Y. UH. qF =¥ qUA TSIl FTSIAT
(C) et "=t ISTeAT AT

(D) T W UTH ISTAT TTSTAT

Answer: b

72. R G T 2024 § A [EGATET e FAR T 5 @ § w07 9@ Star?

(A) TeTTeRT
(B) S=fHew
(C) =TSt
(D) TRemTaTSIT



73.

Answer: b

fATER 2024 #, I8T FHATAT & AT TS TIARIGT iR AT Tt TEATA (NIMAS) Y Teh E1H o TS0l &2 H Th

37T 3R 37T AT IR TS 1 3R SHFT ATH 69 GelTs ST, cHIITITET IATCHT (Tsangyang Gyatso) 3 oATH 9T I@T| 59 RIS Fr
Aqcd [T 7 & foneteh gan foham arar ar?

74.

75.

(A) AR UE.TH. d@Tad

(B) elel 7IG PAR

(C) heTel 372N T

(D) FeTel TSTAR A SATHATH

Answer: D

Referfad & & 5 1 A2 2024 & TAT 59 9% &1 997 FEAFRT e [ Hhar @

(A) FTEAAT UH T
(B) THET WA
(C) wfawar S=
D PEIEESE

Answer: A

g AL T USTorgH TRATAAT Hl---- T ST FEA o (o107 SR 2024 H ATRHAT H a1 &7 (AfF=w= =i fem) deonas @ee,

2024 e o)

76.

(A) FET Trafate
(B) @AT

(C) H
(D) ==

Answer: B
ot urg R, Ui ST —arelT Wl P, Q, R, SR T ¥ ) uferaft wRier & forw Amifrd S+iigart ok (Amifera # &) wdiem Sl o=

qrel SHEIRI ® fadRer &7 fFefid Hxar &2

Ui RT3 SRl H Aifed Iedicar] @1 $a
= = 7500

4

Uig ST ¥ Gliam 3] o3 ard IRficart
@1 P HBA =4000

s v

wemEt Q, R oMk S # amifdha SWigart @1 @ol wear ok Heamt Q, R 3k S 9 Iwiivf SHicaRt & g W& &7 U drd x|

(A) 44 : 75
(B) 15: 71
(C) 75 : 44

(D) 71 : 15




77.

78.

Answer: C
Ife e FHacy e wEATHt F AN 36 ¢, A Al e F AOAEHS F4T §?
(A) 1820
(B) 1750
(C) 1460
(D) 1680

Answer: D

aﬁwmﬁmsouﬁammwam%,mmRs.14oﬁ53ﬁ1@?!§'ﬂam%lﬂaﬁuﬁga

AT HfaT

(A) Rs.7

(B) Rs.12
(C) Rs.14
(D) Rs.8.4

Answer: D

79. A3 BUS IRMME fHIT W od § | A3HH 20 I 6 & UfafeeT TR 6 AT dF JUT B3ITH 36 A5 4 6
fcifeeT TRIART 4 AT o TWIAT § | TG ATl 125 T, fIT & & & arel=l fomam &), o ol Toharar s o, afg 4 ang
3T & °rE T & fSder i 8 942 @rdr ¥ 2

(A) 175 ¥.
(B) 180 .
(C) 190 &.
(D) 200 .

Answer: A

80. 5% 10%15% 3 20% & SR TH TH Je fhaedl 82

81.

(A) 42.76%
(B) 41.86%
(C) 32.88%
(D) 36.92%

Answer: B
e a7 Ui oW R FUN @ SrerT—otelT fM # el 800 FHHATRAT & WRIe fIaRer BT = 2 |



fafir &t o eferfyal = ufwe

HHET & &7 H fha dHaNI PRI 87

(A) 120
(B) 240
(€) 176
(D) 200

82. Qﬂégzv:we;%aﬁ?14§1%ﬁ€@ﬁﬁ4mw,Zmaﬁ@_Taﬁ'\f1.5mmﬂw@mw%|aﬁmﬁﬁﬂﬁﬁﬁ@aﬁsﬁ@ﬁﬁwww
{ HART T R, A WT B WR H B arel gl T DI |

(A) 4.75cm

(B) 5cm

(C) 3.5cm

(D) 4cm

Answer: D
83. us FfYed yRifdr R v Rf¥ed ufeerg affe <) @ 8 auf & yray |mRer = 59

5 2
gRIRT & 50% & TRER 21 Rs.7,200 &7 &=RI¥T R 994 &9 R 4 3 ot # o
Ao & (Rs. #) 91d S |
(A) 1,260
(B) 1,875
(C) 2,550
(D) 1,950

Answer: C
84. &l ot & gom acm e, s w0l iR 3D Yo &7 U o




(B) 1:2

(€) 1:

(D) 2:1

Answer: A
85. ‘A’ uw orf &1 15 Al # g1 o) waar & iR ‘B’ S wrf a1 20 fRA # 4 o) Whar ¥ UH W BRI FRA g 9 99 Fd BT 35% 9T
o o=t o 1 w2

(A) 5

() 6

(€ 3

(D) 7

87. 3#':1‘:15\;::{(:)0.8015{ Eaﬁﬂﬁ 100 99 WRIE & 3R RS.117 # 15 31 X 9§ 200 99 WREN & | I8 9rar 1 {5 10% ¥9 ==@ | a8 Rs.204
H20 P R A T AT 99 Al 8 | P AT—< H IAD A Hiererd
ST Y |
(A) 14.25%
(B) 14.75%
(C) 15.25%
(D) 15.5%
Answer: B

88. AR B I &1 agud 3:4 iR 570 @@ P agud 9: 581 AT A o, B 3 &1 O T &, aF AR B @1 990 BT g &1
grm?

(A) 5:2

(B) 3:5



89.

(C) 2:5

(D) 5:3

Answer: C

I a+b=43 ab=3 & da a® + b® F1 AT FAT AIM?
(a) 21

(8) 17

(c) 28

(D) 31

Answer: C

2 —
90. aﬁw’lﬂwx _3x+2_D$q§laamﬂﬁmﬁrﬂﬂﬁmw$q\a(a+1)aﬁq (ﬁ—l_l)

91,
FTell FT FhdT § UIST B rhel 39 @rell S F fhasr §77 & (bt &) T Fhar 872

92.
HEAT F geT Fr Sw, af 9w w&dnsit #r T F4r en?

93.

B
£ x*+5x+4=0
o x2-5x+6=0
o x2+6x+9=0
o) 2x2 -5x+4=0
Answer: B

30
f 9T A, B 3K C # & @1y @ee W A e @l B A /g sX wea ¥ 3 uEw C @ 12 e A

(A) 3
(B) 4
€ 5
(D) 6

Answer: B

51 WE&AT3T FT 3Ad 52 § IRAF 28 &I F71 3¥Wa 50.5 3 3ifae 24 gt #1 sitwa 54.5 § afe 28 ot

(A) 51.64
(B) 50.40
(C) 50.84
(D) 51.86

Answer: a

0 = /3cos0,0° < 6 < 90° .0 +__ .0, OsecO + cosech

IfE sin g, ar 2sin



FT AT 872

33+10+/3

w
19+10+/3

3
19+10+3

6
33+104/3

(B)
(€)

(D) 3

Answer: a

94. g M T & &%
= z (@3l cm &), @Y PQ FaT {A9M?
13
—Z
4
13
4
13
a
13
4

(A)

(B)

(€)

(D)

Answer: b

AABC ~APRQ 31T &4

ABC : 8 PRQ = 16 : 169 | If¢ AB = x AC =y BC

95. AT T 3T+3 33, 42, 28, 49, 32, 37, 52, 57, 35,41 &I HAICTHT X § I 32 Y 36 q4T 41 F 63 ¥ Fod &I FC

a9 HTHS T AMCIHT y WIod g1l § (x-y) FT AT F4T §

(A) 78
(B) 78.5
(C) 79.5
(D) 79

Answer: B

96. a?=b?+(ab)? ¥ a3 b& AW & AT F7 W1 RAFew 39gFa ¢ 2

(A) a=sinx,b=tanx
(B) acotx,b=cosx

(C) a=cosx,b=tanx
(D) a=sinx, b=cotx

Answer: b

1

7. aft (x- X)=2v2 3R xo1 Ear( ¥

(A) 372V6
(8) 420v6

) T AT FIT IM?



(C) 396v6
(D) 384v6

Answer: C

98. ar wHfed gal #1 BAW 10m AR 6em | 93 g7 F 39 ey Hir F@F T AT S SR gT F T FCA B

(A) 9cm
(B) 8cm
(C) 12cm
(D) 16cm

Answer: D

99. afx e e & Foif & W&enw A(-2,5),B(3,-2) 3R C(5,3) ¥, ot 38 Fgw & s am ghi?

(A) (-2,-2)
(B) (-2,2)
@ (22)
(D) (2,-2)

Answer: C

100. U afdd Y A= 3T 12,000 A 31X IWFT ARAF =TT 28,000 AT| 3T I¥ IHHT 3T A 10% 3 36*
E H 8% H M g8l 3WH FUd A vfaed qefr A Hiferel

(A) 10%
(B) 12%
(C) 14%
(D) 15%

Answer: c



